2

2

2

1

2

3

(Classification rule)
(Optimal classification rule )
( Anderson's classification function )

{ "

(Discriminant and
classification analysis)

(Conditional Error rate)

4
2.3.1 R Resubstitution Estimator
2.3.2 Leave-one-out Estimator
2.3.3 B Bootstrap Estimator

2.3.4 DS Shrunken-D Estimator



2.1

(Discriminant Function)

(Classification Rule)

2.1.1
2
variable)
X = A ,
= C XLl , X2 , x3 ,
X
( Probability density
2 pdf

(object or
1 ( 1)

1
function , pdf
fa< X))

)

{{

individual)
2

(Independent

f(X)

(

ir3

)



N ™
< X< X
™m ™»m ™
— N ™
< X X
N NN
N ™
< X X
S A e
< X< X
- N ™M
< X X

»

row vector

Set of

1

X22

»

»

an



2. Set

of

k1

X]

column vector set
Cx1 , * X, 9
X12
x22
x32
X2 = X3 =
X2
X1
1
2
pdf. '
pdf.
a da d
1
a a0
2
i G a J
of 1T)
1 Gauv
of M)
Sample Space = RI1

of observation

X13
X23
X33
X3
]

Vu

U X
R/\

1 X 1
x1
X2
x3r>>
#eoX _
Xy
k
1
2 .
1 ) me f
J )d B
1
» ¢ . -
1 (prior probability
1CE . . .
2 (prior probability
1
2



Pr(

Pr(

Pr(

Pr(

Pr(

V)

)

H Pr( : )

) = Pr{ !

Pr(X¢RL1 I *1) qi

Pr(lll).q

= Prf 2

= Pr(X6RIL1 ! *2).q2

= Pr(1{z).q

) = Pr{ 2

PriXtR2 | *2).q2

= Pr(2i2).q2

= Pr( !
= Prix 6 R2 ! *1).q1

= Pr(2il).qq

12



13

(Cost, of missclassificstion)

classification as
true population 1 2
1 0 c(2i1)
2 c(112) 0

( Expected Cost of

Misc lassification , ECM)

ECM = ¢(2!11)P(211).q1 + c<li2)p<li2).q
ECM
(Minimize ECM) 2.1
2.1 R1 R Aiwald
1 1
f1(X) v c(1;2) ¢
f2(x) c(21!1) ¢
2 2

ECM



ECM C(112)P(112),q2 + C<2|1>p<2!1>'g
c(1'2)ga /[f2(x)dx + c(211)qt ffL(x)dx

KL = R Uy R3

i 100dx = JFL(x)dx + [fACxJdx
R1 R3

If(0dx = 1 - 1fL(X)dx
R3 R

ECM = ¢ (112)q2 /f3(x)dx + (211) [ 1 - [f (x)dx
R1 R
= [c(112)q3 £3(x) - c(211)gjf L(x)3dx + c<2il)q
R1
= f kdx + ¢(2i1)qg
R1
I ECM : ql , g3, c(2il) c(li2)
f1(x) f2(x) (nonneg-ative)
f1(X) f2<x) X

K = c¢(112)q3f3(x) - c(2il)g f (x)
K ECM ECM



15

1
f 1(X) > ¢(1;2).qa
f*(x) c(211).q4
2
2.1
1 ]
2 (Equal Prior Probabilibies) 2/ql =1

R f1(X) > c(1i2)
f *(X) c(211)
Ro f 1(X) < c( 1i2)
f (X) c(211)

1
2 (Equal Cost of Missclassification)

c(li2)lc(211) = 1
R f (X) q
7\x) q
R2 f(x) < £2
72(x) 7
1
2 1
2
R ffggilf X 1
R2 f1(X) < 1
f2(X)

01744%5



X : ( Multivariate normal

2.1.2 2
(Classification with two multivariate normal
populations)

1 2
L = 712 = 1§
X CXA & X2 & XM 1l » » 5 X3
(joint pdf) ~
flx) = 1 expC -1/2(x - 3 )IZ *(x - V)

(2”, )k/2 1172

—h
—
>
~
11

expe- 1 2(X-, 1)1 (X-UL1)+1/2( X-M2) /2 )3

exp C(, 1~A2) A2 *x-1/2(, 1-, 2)/0. *(, 1 + ~2>3
2.1 2.1.2

R+ 5 expC (~1-, 2)] ~4Xol/2(yil-; 2)/2~1(~1+,2)3 > ¢(112)P2
c(2'h)p]

R2 expC (, 1-, 2) "z~ 112(, 1-; 2) 1+, 2) < ¢ li2)P
0(211)7]



[ « : s 1
2 (Anderson) ,
Al X1 3 X2
2
= 2(X1) 1
i=1
1+ 3
= 2(X1)/ 3
iz 1+1
1 1+ 2
"oz 1 [ 2(X1-~x1)(X1-Xl)/+ 2(X1-X3) (x1-x3): D
1+ 3-2 =1 1= 1+1
2PN
XQ 1
(x -X3)7 IX - 1/2(3 1-33) (5 1-X3) 1 ¢(12)q.
c(2'1)q
XQ 2
= (X1-X3)"  *XQ - 1/2(x 1-'X31"  1(X1-X3)

Anderson's classification function

prior probability

17



X C,
X0

2.2

Var 1( )

(Conditional Error Rate)

lel, 5T

(Conditional Error Rate)

Asymptotic expansion

x|z 1-Az> - 1[2(At+ 2)/" L(AI~A3)

N(>1,2) N(~2,1)

all2 (M1-02) - U2 (M oy 1cat-as

112 (I 1~A3)

E1(~r1-A3)

<*1-*23 "1

(111 - >2)

Lx-,u)(x-,ul)l -1(/(1-12)

-*)>

Mahalanobis Square Distance,
1 2

A2

18



N(L1/2a2,a2) X
N(~1,2) X H(AI2 )

E2() = ;22 1( 152)-112 ((142) 2 1m - )

~ W N

= 1/2(>3-11) 2_ (>1-12)

-(112)a2
Var2( ) « Varl( )
N(-1/2a34a2) X
N(ju2,2)
]
2.2. 1 > o >0 [ ->a positive
y 4t <H . "V ‘o
Pre( -1/2a2) 1A < [f1}
= ()-8 ) {1/(2 1A2)CU3+(p-3) -pa]
+ 1/ (2 2A2)CU3+2al2+(p-3+a2)U+(p-2)A
+ 1/ (4N)[4U3+4aU2+(6p-6+A2)U+2(p-1)A }+0( ’2)
= 1+ 2
Pré-(W+1/2A2)A < +9) 1 2 1
0( -2) (order) 2



Squared Distance

(3)

(4)
2.2.jl

(5)
P

E(

= (c-(L/2)a*)/a (c+(Ll/2)ald)/a
K=o, =-.(1/2)a 1= 2
Ao Ty Lim )2 o=
N -> 00
U (-t/2a)+sl2an((1/2)a)C(p-+ )/ atpald3+0( " 1)
pre. ~0 ., lim 1/ 2=15>
N-> 00
A2 ' Sample Mahalanobis
D2 = (x -X [s'"Mx -X )

Population Mahalanobis .Squared Distance,A?2

D2
D2 ) = [( -K-1) Ca2+p(Ll/ 1+1/ 2):
1 -> a positive limit N -> o
2.2.1
(- 1/2 D2)/ D ~ 1>
= () ()t 1 12 - (P“1)/A)
+1/N 314 + (p-3/4)u3+0(n”2)
-( + 1/2D2)ID < *23 (5)
2
X1 , X2 [

( Conditional mean )



(6) EW !ir o, 13, )

131 1x2, -1)
X 1 2 <x1 . 1:=12)

(Conditional variance) 1
X2 -1

(7)  Var(W I VI,"L,X2, ) = (x -X2)/ 2 1(X1-X2)

= (X1, X2, 1)
X1 , x2
(8) Plim AL(X1 , 2, ) = (-1)1~1(1/2)A2 |
1 2> 0
Plim (M <1, ™2 , ) = A
1, 2 ->00
K (cut of point)
"X, XN 1 (Probability of
misc lassification conditional on X , X2 and )
(9) P(2i1,K,x1,X2, "1) = [(K-~x 1,X2, "1))/é(x 1,X2,

(10) P(L 12, K, x1,x2, "1) = 1- (K- 1(X" ,x2, "1))/~(x1, 2,

Cyir- 1/ 2( X1+X2) F *(x 1-



flat)
<t (1

(12)

2.3

2.3.1

Cumulative
Probability density

pC1li2)

DS

1,2,3,

distribution

£: 2 -

{(x?

(

-x 2)

|
function t

(x1+x2)/2}1

1s 1(jr-x2)} 1/

(Estimation of Error

vl

Resubstitution

(Smith, 1946)

(Conditional

N(0,1)

function t N(0,1)

X2)

2

Rates)

DS

Estimator)

Error

Rate)

22



23

(13) = 2 hix )l
] =1

« (underestimate) «

(original) «
« ! (biasness)

(Hill, 1966)

R

A (likelihood rule)
1(x) X 1
1(x) X 2
1(X) X 1 J

2 -
«
EEM(/*)} < MU) < e M(/*)}
]

vy - Prior Probability
%X) = «A X 1 2
a (A = EjE/(x)} (optimum error of allocation for irl)
«2 = E_CLI/X)}
M(/ ) g1 1\d) + q2@(/) = « ]

« ( optimum average risk)
M(K qglel ) + q2«2 ) = M)
M(F) = (actual
average risk)

M *) = « M *)

MU*) (apparent averagr risk)



I (actualprobabi lity)

« 1 L
« (optimum probability ) « & (1)
M (/) .
M(/*) « « « «
« (under estimate)
ml/ 1
E(m / 1) = PrC 1(x1) < K>+ 1/2 PrC I(xt) = K}
el(/) = Prc I(xt) < K} + H2Pre (X ) = K}
PIC I(x) < K>+ L/2PIC I(x) = K >
Efa 1(A*) PrC Ux) < K} + 12Prf (x) = K}
E(m | ) ==
E(m |/ ) <« 1(/) < EC ccl(/*) 1}
X ~ H{( 1) ir « N(M 1) T
*
a (1 L, a1’ w1l |
(h, k;>)
Nz ZHU - d T2 X X X, Z ~ N(0,1)
2 = XM (112)(X1+X2) XJ 1
= Z+X1 (1/2)(X1+X2)
vio= (U2 (X -X)
«
ECa (/*)> = PrCcU1V < 0}
E(in / 1) = PrCl/lv < 0}
Eca* </.*)} = PrCl/v < 0}

(Hill, 1966)



2.

3.2
1
1.
2.
jo= 1»2,3,
3. 1
4,
hJ(X )
(14)

(Leave-one-out Estimator)

(Lachenbruch,1967)

(holdout)

25



(inverse) 1
(Bartelett)

sample covariance matrix

1+ 2~2) = cl+ C2 (15)
1
Cq = 2 (XIX ) (XIX )T Cgo= 1,
i=1
0 group
J g
= XX
= <0- [( 0-1) (16)
= XX 5 M) (17)
= C ¢J3n J/ [( %1)
( 1+ 2-3) 1J3 = cac }#C3_B (18)

(142:2) -a [ al

= Pooled covariance matrix



27

Barttett's identity

B = A+UV/
B~1 = a"'-a”‘uvia"l/(Itv'a"*U) (20)
A nonsingular matrix
v column vectors
B = ( 1+ 2-3) A= ( 1+ 2-2)
= [( -1)u”r vV =
C = I(( B-1)( 1+ 2-2))
via lu = Ck /[ -1
ck 11 |
ArUv'a”l = (20)
( + 2-2
(1+2-) + ok
(21)
(+ 2-2) - ¢k [ 14

Discriminant function

(X -112(X14)(2) ( 3)" Lo ,(X,-X,) ), (22)



(16) «
(X 1+ X,) o5 X1+X2-  [(  -1) (23)
(X1 X5) () X1-xa+<-1) /(- 1) (20)
!
XJ 1
D.(xJ} < 0
EED (x ) <0 G} = P ( 1!, 2)
1
1-1
J
Z)
{ 1 XJ | 1)
a
E(z) = P (1! )
- 2Giz/ 1
- ZGZZ/ 2
Pr( -t 2) P2 1, 21

28



X1 1

VAR(P ) VAR(SZ | 12)

CoVAR(Z )+S:CoV(Z ,z > |

J=1 i
I j
VAR(Z ) = P QI cov(zi,z2 ) PQ~*
? ' Z1 Z
VAR(P ¥) IEIE U clt<c -1
f 0 VAR(P1%) (P1QL)/ >0
P>
(-1 h >
> LI =
> | M
12 P1
ZP1LIM 9 i — 192939 « | M
VAR(P 1%)
M
S(P =P )2IM-I
=1

correlation
correlation

29



2.3,3

Al = ml/
1.

2.

1

H*2

(Boostrap est,imaior)
(Efron, 1979)
(with replacement)
3
(Taylor series)
(bootstrap sampling)
50 - 200
B
R
i Al
(under estimate) Efron
(bias correction ) Al +
1 1 bias correction
1 1 = E(P1 - At) E
b1l
2 H*1
175
(with replacement)?
*(X) H* 1 *

30

1



X1
y A

(act

Ax*1

Ax1

ual

X1

1

d = A**1 - A*]

error

error

R{(x.y)

X1*

rate)

50

X 1 m

Y/\

. (F,0))

~

bl
200

ind F
ind G

# £ Xle

= error”?

91
9 ]

B

31

(25)

192939 «+«+ 9 H
— 11221 e»e O Tl

3/

error”™ = Probe X

(bootstrap

B}

samples)
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X = X s X1 - ind F 2= 1$2)3) tt* f it

-y v o~ ind G i = 1)2)3) «1t o

F « G F G «
R* = R((X*,y*),(F,G) = #{ xMEB'1/m - #{x *L B*}/m
, (actual error
rate) £ | F
R* 1
Rt* , R * , R3* , . . . | RI* E(R*)
E(R)
F.G
1
E(R*) = 1R */1
VAR(R*) VAR(R>
F.G

I
VAR(R*) = { ZCR *-E(R*) 2/ - }

2.3.4 DS (Shrunken-D estimator)
(Morrison, 1976) ' D Plug-in
estimator D

(under estimate)

N2
| -1 Al A2 X1 X2
"1 Wishart distribution

E() (N-2)2/(N-k-3) (26)



DS
D2

¢gc-t

mi-

(N-2) [(N-k-3) (27)

(11)

[2<Xt+x2):  1(X1->[2)-X1/ 1

((X X )1 ¢1((N-K)S )/ (N-k-3)S~ 1(x

(N-k-3) (X 1-X2)/ "L1(X1-X )I(N-2)

(DS) 11212

( N-k-3) D2I(N-2)

-X

/2

)

X1

(28)
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